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2� +263,7$/� 81,9(56,7È5,2� '2� 2(67(� '2� 3$5$1È� ±� +823��
GHYLGDPHQWH� UHSUHVHQWDGR� SHOR� 5HLWRU� 3DXOR� 6HUJLR� :ROII�� FRP� IXQGDPHQWR�
OHJDO�� QR� DUWLJR� ���� LQFLVR� ,�� GD� /HL� ������������� WRUQD� S~EOLFR� TXH� SUHWHQGH�
UHQRYDU� R� &RQWUDWR� ��������� �� +823� FRP� D� HPSUHVD� :RUOGPHG� �
(TXLSDPHQWRV�0pGLFRV�/WGD���(LUHOL��SDUD�FRQWUDWDomR�GH�HPSUHVD�SRU�SURFHVVR
GH� LQH[LJLELOLGDGH� SDUD� SUHVWDomR� GH� VHUYLoR� GH� PDQXWHQomR� SUHYHQWLYD� H�
FRUUHWLYD�� FRP� IRUQHFLPHQWR� GH� SHoDV�� QRV� YHQWLODGRUHV� SXOPRQDUHV� GD� PDUFD�
,QWHUPHG��PRGHORV�,QWHU�1HR��,QWHU����,QWHU���3OXV��,QWHU����,QWHU���H�,;����'LDQWH�
GLVVR�FRPXQLFD�D�WRGRV�RV�LQWHUHVVDGRV�TXH��QR�SUD]R�GH�WUrV������GLDV�FRQWDGRV�
GD� GDWD� GHVWD� SXEOLFDomR�� HQFDPLQKHP� GRFXPHQWDomR� FRPSUREDWyULD� GD�
FRPHUFLDOL]DomR�� DVVLVWrQFLD� WpFQLFD�� JDUDQWLDV� H� VHUYLoRV� GH� PDQXWHQomR� TXH�
VHUmR� REMHWR� GD� UHQRYDomR� FRQWUDWXDO�� SDUD� DQiOLVH� 3UHWHQGH�
FRQWUDWDU�D�HPSUHVD 3KLOLSV�0HGLFDO�6\VWHPV�/WGD��SDUD�DTXLVLomR�GH�SHoDV�
SDUD�R�6LVWHPD�GH�$QJLRJUDILD�'LJLWDO��PDUFD�90,�3KLOLSV��DORFDGR�QR�+RVSLWDO�
8QLYHUVLWiULR� GR� 2HVWH� GR� 3DUDQi� �� +823��'LDQWH� GLVVR� FRPXQLFD� D� WRGRV� RV�
LQWHUHVVDGRV�TXH��QR�SUD]R�GH� WUrV������GLDV�FRQWDGRV�GD�GDWD�GHVWD�SXEOLFDomR��
HQFDPLQKHP� GRFXPHQWDomR� FRPSUREDWyULD� GD� FRPHUFLDOL]DomR�� DVVLVWrQFLD�
WpFQLFD�� JDUDQWLDV� H� VHUYLoRV� GH� PDQXWHQomR� TXH� VHUmR� REMHWR� GD� IXWXUD�
FRQWUDWDomR��SDUD�DQiOLVH�GD�81,2(67(��&DVFDYHO�����GH�DJRVWR�GH�������3DXOR�
6HUJLR�:ROII�±�5HLWRU�

$7$6�5(*,6752�'(�35(d26�+823� $UW������LQF��;,,±�'HFUHWR���������
3UHJmR� (OHWU{QLFR� ��������� ±� 2EMHWR� 5HJLVWUR� GH� SUHoRV� SDUD� IXWXUDV� H�
HYHQWXDLV� DTXLVLo}HV� GH� HPEDODJHQV� GH� FRSD� H� FR]LQKD� SDUD� R� +RVSLWDO�
8QLYHUVLWiULR�GR�2HVWH�GR�3DUDQi���+823��$53������������$�7�0�$OLPHQWRV�
/WGD��$53���������� ��&DULRFD�&RPHUFLR� GH�3URGXWRV� GH� /LPSH]D� /WGD�$53
��������� �� )UDQNH�	� =LPPHU� /WGD�� $53� ��������� ��1LFNYDOOH�&RPHUFLR� GH�
3DSHLV�/WGD��$53������������5XDQD�&RPHUFLDO���(LUHOL���0H $WDV�GH�5HJLVWUR�
GH�3UHoRV�FRP�YLJrQFLD�GH������������DWp�������������5HVXOWDGR�SXEOLFDGR�QR�
',2(�Q���������HP�������������&DVFDYHO����GH�DJRVWR�GH�������3DXOR�6pUJLR�
:ROII�±�5HLWRU�8QLRHVWH�����
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